Model Paper Mathematics (Sci) IX
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MODEL PAPER MATHEMATICS SCIENCE IX (Subjective Paper)
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Q no: 2 Answer briefly any Six Parts from the followings. J_/Q_/“_u,gvgﬁ{,,:z;{c_éfgu:‘j:;@” 1
Deline Identity Matrix and give example Lede sy S S s,
17 7,0 , 1/ 7 i -
I “*A:[ 54 42] Find |A|= Is a Matrix non- ?:l_..,)Gul:ﬁ*Ab_Jl?yQ/r)v[ éﬂr éz]:AIAM
singular? i a
III.  Simplity o g
o 29 p2r st l g
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FI\". Simplity /243x5y10215 I } "
V.  Find the value of log,” 2 2
= logs“ o/ ':*” =4 ‘
Vi [tz =2+i Find (i) Z (ii) z+Z
[ (1) Z (i) z+2 WD)z 2y /rz =2+ |
VII.  Define logaritl i - -3 =1
garithm of real number, SIS PSP R wF |
|
- o . 1 1
VIIL  If x=2-V3 , Find the value ofx-; u_rfr}”_-_fJx%?x:.?—\@/‘f !t
IX. F ize 1-x2-y242 -
i actorize 1-x%-y2+2 xy JASF | _
/ Q no: 3 Answer briefly any Six Parts from the followings. q//,f;,glz/i"iflmng:_(jf;ufgbbu 7 i
[ Flnd H.F.C b) factorization :
j XH5X46 | x2-4x-2 e SF s l
X +5x+6 |, x2-4x-2
[ What is the difference between E ]
| L quation and 5 . i
| inequalities by giving example. ¢/_;u,/g,Jv+d/gu:u|,uim_,uw \\
Lm. Solve |2x + 5|=11 J_;‘,,w,_{v?\
1v.  In the given lines identify which line is A SEEE I Loy $it5 Lof xe AF 1T 6

parallel to x-axis and which is parallel'to y-
axis.

D 2y+4=3 (ii) 2x+1=0

a. (i) 2y+4=3 (ii) 2x+1=0
v. Find Fhe value of m _and.c of the given e u(.:ulm,w.LL/ﬁWgﬂy:mwc/_—.l,L/éxd: \I
equation by expressing in the form of Ax-2y+8=0 ]
=IMX+C y |
a. 4x-2y+8=0
VI.  Define Scalene Triangle S Pt ey
VIL.  End Points of diameter of circle are A(4 , 6) VESTIL B Lai1A (4,600 BQ 204 p fodls
and B(2 , 2) Find center of circle. -./
s
VIIL.  What is meant by A.S.A =A.S.A e A N AT
IX.  Find the unknownsx® , y¥°, m°and n°in the qfr:“’u:’-;«fn"ulm"ry"‘x"ude'u’:a.v

given figure. N
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Q n0: 4 Answer briefly any Six Parts from the followings.
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Define Bisector of a line segment
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3em, 6¢m and 9em are not are not lengths of cud U LU S s L sl 9emusbeme3em |
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Triangle why"? |
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What is the difference between Raito and
|
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proportion |

V. By Geometrical figures define similar S S e sl e k2 '
triangles. |

v. Define convers of phthagoras S FAr J’/u’f f

Verify that a® + b?, a* — b?and 2ab are the b L ks o 91246 12absia? — b*a® + b2S S
sides of Right Angle Triangle i s
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‘Wi. If the base of Triangle is 14cm and altitude is | _/ fole 5 getfor 12emE B0 lemlUdoat £t/ /

12cm Find the area of Triangle.
VL Construct a Triangle ABC in which o P e BABC
mAB = 4cm mzA=60° mBC = 4.2cm aetIIE

IX.  Define Circum center of a Triangle
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Note: Attempt any Three Questions. Q no.9 is Compulsory
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Q no:S (a) if A_[4 1 ] Find A~'and Prove that AA =l S et S JA_I;’A:F 2]/',
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(b) Simplify =
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(243)*/3(32) /s
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Q no: 6(a) Prove that
log, m"=nlog, m gt :
log, m"=nlog, m :
(b) If T » - E
2x — 3y = 10 and xy = 2 Find the vidueof 8x°- | LSk 23 (8x3-27y3xy = 22x — 3y = 101 1
27_}/3
Q no: 7(a) If (x+2) is a Factor of 3x%-dkx -4k* . L NN T =
then find the values of K. [ LR FATK I 202327 Ak 4K A (x+2).
(b) Find Square root by division Method pr
4x?  8x 12y 9y? N e DAY e
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Q no: 8 (a)Solve equation for value of x 3-5x| 1 _2
,3—5x 1_2 l 4 'E-EU.'/(}VJ/:L,P
4 1373
(b) Construct the Triangle ABC and draw the o Ly Ll ABC LS
perpendicular Bisectors of the of the nEC = 4.8 *'m 260 B ‘_’_ AHOD=
sides of the Triangle =48cm mCA = 3.6cmAB = 4cm
-wi_ﬁhﬁ(fwtd)fﬁ.awi[_g,ﬁ-o”

Q no: 9 (a) Prove that the right bisectors of the sides
of a Triangle are concurrent
OR
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(b) Show that a median of a triangle divides it into
two triangles of equal area.
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